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( Intermediate Microeconomics—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions : 1x10=10
S oINS T foray

(@) Write one use of Edgeworth box
diagram.

qeeye I (IFH) BgT @1 I foran |

(b) What is contract curve?

pfe @ 2
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(0 Define pure public good. 2. Answer the following questions : 2x5=10
oS e T e fi | ©orq 2eATed e o
(d) What is degree of monopoly power? (@) Define two types of externality.
GeofbaT IERa =l & 2
| 72 Qe MO A ford |

(e) In which market, there is selling cost?

@I IEES R I8 A3 ?

(b) Distinguish between perceived demand
and proportionate demand.

() What is meant by strategy of a game? | - PO S S AT IfRwE TS 14
9% 3o/ (et e o g 0 , et
(g) Define signalling in a market. : (c) Define Cournot’s oligopoly model.
W AT IR ford | :
Lo el o B G e B

(h) What is duopoly market?
(d) What is market efficiency?

wRFR &1 %2
W el 7
() What is meant by asymmetric
information?
i F- (e) Distinguish between minimax and
v b f ! maximin strategies in game theory.
() What is non-zero-sum game? @ @ Ao wE e (PR TS

- 3 5 e foret
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3. Answer any four of the following questions :
5x4=20
oo 2Peared R I wifeR T fore

(a) Explain the concept of production
possibility frontier.

Besw BRI (IR YIRECH! T 347 |

(h) What are the characteristics of public
goods? Explain.

rerEdl TS (AREPTR & 1 2 e 900

(c Explain Lerner’s measure of degree of
monopoly power.

ARTRE GO0 e T@ (FR ST&S
R F40

(d) Explain how the saddle point is
obtained in a two-person zero-sum
game.

RB-e -l (o e Ry e
Toferd =W, U 90

(e) Explain the concept of dumping in

a market.

TGRS TIFPIT YREACOT N0 40 1
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() Is price discrimination under monopoly
desirable? Support your answer.

GICO0T GRS 7 REenesd I 2 (ONR
Tetq e IS wodfiat |

4. Answer the following questions : 10x4=40
o 2R T ford
(a) Explain the conditions for Pareto
optimality.
TR ST AR SETR Y 41 |
Or/ 7951

Explain why there is no supply curve
under monopoly. Briefly explain any
two methods of regulating monopoly
power. : 4+6=10
OB JERS Q@A @ [ AACE, M

41 | GReeloal e T IR R @ 1o
fS SLF T 1 |

(b) Explain diagrammatically the Bertrand’s
model of duopoly equilibrium.

IEEST RN SRAME SR foqy =
9 40|
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or / F

Explain how a firm under monopolistic
competition attains equilibrium both in
the short and long run.

GFMRFR AN ITAS 9B ARSI (e
TR T A SIeTel e G,
AT 1 |

Write notes on adverse selection and
moral hazards which may arise due to
information asymmetry with examples.

5+5=10
TR TS TARSHY ©F FRC TeAT (FRM
e v o GAfee Refer esme G
foran 1

Or / g

Explain the market equilibrium process
in case of a multi-plant monopoly.
wAHIAE  GFELA TWEC  IGF S
e afem amm 40 |

Diagrammatically explain how
externalities in  production and
consumption lead to market failure.
T HF (SR ARTOR (T IWS
e 72 ¢3, foga 2o [ 347 |
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Explain how optimum  resource
allocation can be obtained with the
help of production possibility frontier
and social indifference curve.

Teome WIS (@Y F AR [ICr® @@=
wREce ey T R (@Fem T =,
AT 4 |
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